## KANSAS CORPORATION COMMISSION OR GOVERNMENT 1999 OIL & GAS CONSERVATION DIVISION Form Must Be Typed

## **WELL HISTORY - DESCRIPTION OF WELL & LEASE**

Operator: License # 5429	API No. 15 - 077-21569-0000
Name: Bryce F. Hayes Oil & Gas	County: Harper
Address: PO Box 108	NW - NW - NW - Sec. 19 Twp. 32S S. R. 9 East  West
City/State/Zip: Attica, KS 67009	510 feet from S (N)(circle one) Line of Section
Purchaser: N/A	330 feet from E (W)(circle one) Line of Section
Operator Contact Person: Bryce F. Hayes	Footages Calculated from Nearest Outside Section Corner:
Phone: (_620) _254-7204	(circle one) NE SE (NW) SW
Contractor: Name: Duke Drilling Co., Inc.	Lease Name: Ricke Well #: 1-19
License: 5929	Sharon .
Wellsite Geologist: Tim Pierce	Producing Formation: Mississippi
Designate Type of Completion:	Elevation: Ground: 1433' Kelly Bushing: 1441'
✓ New Well Re-Entry Workover	Total Depth: 4464' Plug Back Total Depth: 4395'
Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 252 Feet
✓ Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tow/sx cmt.
Well Name:	
Original Comp. Date: Original Total Depth:	Chloride content 8000 ppm Fluid volume 480 bbls
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 8000 ppm Fluid volume 480 bbls
Plug BackPlug Back Total Depth	1
Commingled Docket No	Dewatering method used Haul off 240 bbls
Dual Completion	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name: Jody Oil & Gas
	Lease Name: Sanders 3-A SWD License No.: 3282
12-12-06 12-13-06 Spud Date or Date Reached TD Completion Date or	Quarter SW Sec. 20 Twp. 31S S. R. 8 East V West
Recompletion Date  Recompletion Date	County: Harper Docket No.: D-23,313
per GR-Kec-Dig	·
Kansas 67202, within 120 days of the spud date, recompletion, worker information of side two of this form will be held confidential for a period of	th the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, ver or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-s and geologist well report shall be attached with this form. ALL CEMENTING s. Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regunerein are complete and correct to the best of my knowledge.	late the oil and gas industry have been fully complied with and the statements
Signature: Trye F. Flavor	KCC Office Use ONLY
Fitle: Quenox Date: 2-8-07	)
	•
Subscribed and sworn to before me this 8th day of FEBLUARY	If Denied, Yes Date:
2007	Wireline Log Received  Geologist Report Received
Notary Public: Altrelian Pottergham	Geologist Report Received RECEIVED  UIC Distribution KANSAS CORPORATION COMMISSION
Jete Commission Evnires: (0=10=09	RRILYNN NOTTINGHAM FFR 0.05 2007
OFFICIAL MY	October 40,0000
	Conservation division Wichita, Ks

Operator Name: Bryce F. Hayes Oil & Gas					Well #: 1-19				
Sec Twp S. R9 East			Cour	nty: Harpe	er				
ested, time tool ope emperature, fluid re	how important tops a in and closed, flowing covery, and flow rate is surveyed. Attach f	g and shu s if gas to	t-in pressures, surface test, a	whether long with	shut-in pr	essure reached	static level, hydro	static pressu	
rill Stem Tests Take (Attach Additional		<b>⊘</b> Y	es  No			_og Formati	ion (Top), Depth a	nd Datum	Sample
amples Sent to Ge	ological Survey	. 🗆 A	es 🗸 No		Nan	ne		Тор	Datum
ores Taken		Y	es 🗸 No		Heel	bner Shale		3398	-1957
lectric Log Run		✓ Y	es No		Lans	sing		3614	-2173
(Submit Copy)					Starl	k Shale		4055	-2614
ist All E. Logs Run:					Che	rokee Shale		4283	-2842
Geologists Re Dual Compens Dual Induction	sated Porosity L	-og	,		Miss	sissippi		4328	-2887
			CASING		12207	ew Used			<del></del>
0	Size Hole	<del>,</del>	rt all strings set-c re Casing	<del></del>	surface, int	ermediate, produc Setting	Type of	# Sacks	Type and Percent
Purpose of String	Drilled		t (In O.D.)		s. / Ft.	Depth	Cement	Used	Additives
Surface	12-1/4"	8-5/8"		23#		252'	60/40 Poz	180	3%cc 2%gel
Production	7-7/8"	5-1/2"		15.5#		4464'	60/40 Poz ASC	25 100	4%gel
			ADDITIONAL	CEMENT	TING / SQ	UEEZE RECORI	)		
Purpose: Depth Type of Cement Top Bottom Type of Cement		#Sacks Used			Type and Po	Type and Percent Additives			
Protect Casing Plug Back TD Plug Off Zone								,	
Shots Per Foot			RD - Bridge Plug Each Interval Peri		е		cture, Shot, Cement mount and Kind of Ma		ord Depth
' - 4 SPF	4400' - 4401' No ce	ement in a	rea to pef. for p	prod					
' - 4 SPF	4364' -4365' Set ce	ment reta	iner at 4395' st	ting into i	retainer				
	& mix 50 sks type h				,				
21' - 4 SPF	4333'-4354' PPI acid							······································	
TUBING RECORD	Size	Set At		Packer	At	Liner Run	voormannen on de la constant de la c		
2-7	7/8"	4347'				[	Yes No		
	d Production, SWD or E ac. loadback 2/6/07		Producing Meth	nod	Flowin	g 📝 Pumpi	ng Gas Lift	Oth	er (Explain)
Estimated Production Per 24 Hours	Oil N/A	Bbls.	Gas N/A	Mcf	Wat N/A	er B	bis. G	as-Oil Ratio	Gravity
Disposition of Gas	METHOD OF C	OMPLETIC				Production Inter	val		
Vented ✓ Sold	Used on Lease		Open Hole	<b>√</b> Pe	rf. 🔲 I	Dually Comp.	Commingled	KANSAS C	RECEIVED COMPORATION COMP
(ii voinau, Su	10.m. 1100-10.j		Other (Special	fy)	***************************************			<b>-</b>	FEB 0 8 2007

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

් වි

Invoice Number: 105962

Invoice Date: 12/18/06

RECEIVED KANSAS CORPORATION COMMISSION

NOV 3 0 2007

CONSERVATION DIVISION WICHITA, KS

Sold Bryce Hayes Oil & Gas To: P. O. Box 108

Attica, KS 67009

Due Date.: 01/17/07 Terms...: Net 30 Cust 1.D....: Hayes P.O. Number..: Ricke 1-19 P.O. Date...: 12/18/06

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
Common	30.00	SKS	1.0.6500	319.50	Ť
Pozmix	20.00	SKS	5.8000	116.00	T
Gel	3.00	SKS	16.6500	49.95	T
ASC	100.00	SKS	13.1000	1310.00	Ť
ClaPro	13.00	GAL	25.0000	325.00	$\mathbf{T}$
KolSeal	500.00	LBS	0.7000	350.00	T
FL-160	47.00	LBS	10.6500	500.55	$\mathbf{T}$
Mud Clean	500.00	GAL	1.0000	500.00	T
Sod. Met.	17.00	LBS	1.9500	33.15	T
Handling	193.00	SKS	1.9000	366.70	E
Mileage	14.00	MILE	17.3700	243.18	Ē
193 sks @>09 per					
Prod. Casing	1.00	JOB	1675.0000	1675.00	E
Mileage pmp trk	14.00	MILE	6.0000	84.00	E
Head Rental	1.00	PER	100.0000	100.00	E
AFU Float Shoe	1.00	EACH	263.0000	263,00	T
Latch Down	1.00	EACH	375.0000	375.00	T
Spiralizers	3.00	EACH	237.0000	711.00	$\mathbf{T}$
Shirariners	3.00	211011			
	•				

All Prices Are Net, Payable 30 Days Following
Date of Invoice. 1 1/2% Charged Thereafter.
If Account CURRENT take Discount of 73,2,20
ONLY if paid within 30 days from Invoice Date

7322.03
Tax....:
Payments:
0.00
7527.78

contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side.

Pain

WILL BE CHARGED
UPON INVOICING

TOTAL 1349.00

TOTAL CHARGE

B10001111111 A

IF PAID IN 30 DAYS

\* TIM PIERCE

PRINTED NAME

Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

Invoice Number: 105800

Invoice Date: 12/11/06

Sold Bryce Hayes Oil & Gas

To: P. O. Box 108 Attica, KS

67009

Cust I.D....: Hayes

P.O. Number..: Ricke 1-19 P.O. Date...: 12/11/06

Due Date.: 01/10/07

Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	ТX
Common Pozmix Gel Chloride Handling Mileage min. Surface Mileage pmp trk Head Rental Wooden Plug	108.00 72.00 3.00 5.00 188.00 1.00 1.00 1.00	SKS SKS SKS SKS MILE JOB MILE PER EACH	10.6500 5.8000 16.6500 46.6000 1.9000 240.0000 815.0000 6.0000	1150.20 417.60 49.95 233.00 357.20 240.00 815.00 84.00 100.00	TTTTEEEET
If Account CURREN	t, Payable 30 Days Fol l 1/2% Charged Thereaf T take Discount of in 30 days from Involc	ter. Tax.	cotal: ; nents:	3506.95 101.27 0.00 3608.22	

RECEIVED KANSAS CORPORATION COMMISSION

NOV 3 0 2007

CONSERVATION DIVISION WICHITA, KS

## ALLIED CEMENTING CO., INC. 23467

Federal Tax I.D.# SERVICE POR REMITTO P.O. BOX 31 RUSSELL, KANSAS 67665 ON LOCATION DATE / 2- 50 LEASE R. C. OLD OR NEW (Orcle one) CONTRACTOR TYPE OF JOB CEMENT HOLE SIZE AMOUNT ORDERED 180 4 CASING SIZE DEPTH **TUBING SIZE** DEPTH DRILL PIPE DEPTH TOOL DEPTH 108 @ 10.65 PRES, MAX MINIMUM 100 MEAS, LINE SHOE JOINT **POZMIX** CEMENT LEFT IN CSG GEL CHLORIDE PERFS. @ 46.60 DISPLACEMENT ASC @ ÉQUIPMENT **@ (**1) CEMENTER PUMP TRUCK @ @ LK TRÚCK @ DRIVER **(a) BULK TRUCK** DRIVER HANDLING M: 1 Chig. TOTAL 2447. REMARKS: SERVICE DEPTH OF JOB 25 PUMP TRUCK CHARGE 815,00 EXTRA FOOTAGE MILEAGE 14 MANIFOLD @ 100.00 100.00 CHARGE TO: TOTAL 999.00 STREET STATIRECEIVEDZIP CITY. PLUG & FLOAT EQUIPMENT KANSAS CORPORATION COMMISSION NOV 3 0 2007 @ To Allied Cementing Co., CONSERVATION DIVISION You are hereby requested to renly chief the equipment ANY APPLICABLE TAX and furnish cementer and helper to assist owner or WILL BE CHARGED contractor to do work as is listed. The above work was **UPON INVOICING** TOTAL 60,00 done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND TAX -CONDITIONS" listed on the reverse side. TOTAL CHARGE DISCOUNT IF PAID IN 30 DAYS

## ALLIED CEMENTING CO., INC.

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

		1	I	Total ED OUT	ON LOCATION	IOR START	IOB FINISH
DATE 13-06	SEC 9	JUP 32s	RANGE	CALLED OUT	MAOE : E	14.000 9 W	8:00Am
LEASER: CKC	1		LOCATION BACK	er / HADER	co.line	BACOEC	STATE
OLD OR NEW (Cir	cle one)	l	on 60. 185				
	<del>, , , , , , , , , , , , , , , , , , , </del>		<u>(0),                                    </u>			_ () .).	C
CONTRACTOR	Duke	<u></u>	, , ,	OWNER 15	ryce Hay	es ont	
TYPE OF JOB		.sq. T.D.	4464	CEMENT			
HOLE SIZE 77/ CASING SIZE 5/			TH 4453 '	AMOUNT	RDERED 50 S	x 60:40:4	14% Sms
TUBING SIZE		DEP		NO SX	ASC+-541	col-seal	+ .5%
DRILL PIPE		DEP		FL-160,	500 QAI. M	ud-CleAn	
TOOL		DEP		_	4	a 10 60	319.50
PRES. MAX 120	<u>x</u>		11MUM 3 00	_ COMMON_ POZMIX _		_ @ _ <i>5,80</i>	
MEAS, LINE CEMENT LEFT IN	CSG	SHC	DE JOINT 43. AC	GEL	_ <del></del>		49.95
PERFS.			<del></del>	CHLORIDE		@	
DISPLACEMENT	106/	Bbls	2% KCL	ASC/_		@ <i>13,10</i>	1310.00
		IPMENT		Clapro	laosis_		325.00
	_			-Kol Sea			350.00
PUMPTRUCK	CEMENT	RLAC	ry Dreilin	7 F-L-/6	on 500 st	@ 10.65 0 0 1.00	500.55
			nisc.		Metasilicate		33.15
BULK TRUCK			_	ILEK-LUK F-1			
	DRIVER	W.KG	<u> 5</u> .			@	
BULK TRUCK	DRIVER		•		105	_@	3// 70
<u> </u>	DKIYGK	·		<ul> <li>HANDLING</li> </ul>			366,70 243,18
	T. T.	e a minero.		MILEAGE .	17 × 193		4/14.03
۵۱ o		MARKS:				IUIAL	7/19/00
Pipe on B Pump 2086				_	SERV	TCE	
			LMH W/25	 5x	51214	10.12	
60:40: 4 +SI				_ DEPTH OF	лов <u>44.</u>	<u>5.3 '</u>	
+ SMS Foll c	wed u	2/_100.5	sx Asc+ 5 "	PUMPTRU	CK CHARGE		1675.00
KOL-Seal +						_@ <u></u>	3// 00
Kelease T	100. 10	LSOIBC DOLLAR	e 106 BBbk		14	@ <i>000</i>	84,00
Held.	u <del>basır</del>		oy, season	MANIFOLD	Rental	@ 100.110	100.00
TOW				-/	(A_1)-1-0-4		
CHARGE TO. B	ouce l	faues	0:1+GAS	<u> </u>			
CHARGE TO ALE				_		TOTAL	1859.00
STREET			<del></del>	<del></del>			
CITY	ST.	ATE	ZIP	_	PLUG & RLOA	T EQUIPMEN'	Г
		RE	CEIVED	5%	I BOW OF BOX	22. 22.20	•
•	KAN		DRATION COMMISSIO	N T-AFI	Float Shoe	@ 263.00	263,00
			434	I- latch	Pla	@375.0D	375.00
To Allied Cement	ing Co. I	oo NOV	3 0 <b>2007</b>	3-50	alizers	@ 237.00	711.00
You are hereby re	cauested to	o cent cen	nenting equipment			@	
and furnish ceme			VATION DIVISION SALETAN WATER OF	ANY APPI	ICABLE TAX	<b>x</b> - <sup>@</sup>	
contractor to do v	vork as is	listed. Th	ne above work was		E CHARGED	DOTA 1	1349.00
done to satisfaction	on and sup	pervision	of owner agent or		NVOICING	IOIAL	1547.00
			the "TERMS AN	D TAX		_	
CONDITIONS" I	listed on t	he reverse	side.		72		•
				ТОТАС СН	AKUE		
		_		DISCOUNT	- distriction	IF PAID	IN 30 DAYS
		$\mathcal{D}$	_		- D - A	_	
SIGNATURE 🚅	IM	Jun	0	- <del>x - 1</del>	IM TIERO	<u>ت ت</u>	
, ,					PRIN'	TED NAME	